
AE3
L3X3X14/

4'-514/

R 1
2/ 2

AE31

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

AE3
4'-5 1/4"L3X3X1/4

6
A36

ANGLES
6 AE3

- SHOP PRIME

6 - ANGLES - AE3

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

AE3

ANGLEAE3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/18/2021ASM NSP



AE4
L3X3X14/

3'-1158/

R 1 2/
AE4

2

1

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

AE4
3'-11 5/8"L3X3X1/4

3
A36

ANGLES
3 AE4

- SHOP PRIME

3 - ANGLES - AE4

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

AE4

ANGLEAE4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/18/2021ASM NSP



S-B1
C8X11.5

10'-538/

Te
kl

a 
st

ru
ct

ur
es

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-B1
10'-5 3/8"C8X11.5

8
A36

BEAMS
8 S-B1

- SHOP PRIME

8 - BEAMS - S-B1

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-B1

BEAMS-B1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/18/2021ASM NSP



A

A
1158/

p25

S-B4
C8X11.5

4'-658/RD

10'-538/

A - A

p25

316/
316/

114/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-B4
10'-5 3/8"C8X11.5

1
A36

BEAM
1 S-B4

- SHOP PRIME

p251 PL1/4"X7"A36 0'-11 5/8"

ONE - BEAM - S-B4

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-B4

BEAMS-B4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/18/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



1158/

p25

S-B5
C8X11.5

A

A

4'-658/RD

10'-538/

p25

A - A

114/

316/
316/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-B5
10'-5 3/8"C8X11.5

1
A36

BEAM
1 S-B5

- SHOP PRIME

p251 PL1/4"X7"A36 0'-11 5/8"

ONE - BEAM - S-B5

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-B5

BEAMS-B5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/18/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



3'-1114/

S-DA3
L3X3X14/

3 - 916/ Ø HOLES

558/
S-DA3

3'-558/

13
4/

1'-1158/RD

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-DA3
3'-11 1/4"L3X3X1/4

4
A36

ANGLES
4 S-DA3

- SHOP PRIME

12 1/2"Ø HILTI-KB3 BOLT 0'-5 1/2" FIELD BOLT-

4 - ANGLES - S-DA3

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-DA3

ANGLES-DA3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/18/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



S-DA4
L3X3X14/

3'-512/

3 - 916/ Ø HOLES

314/

1'-834/RD 3'-214/

S-DA413
4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-DA4
3'-5 1/2"L3X3X1/4

2
A36

ANGLES
2 S-DA4

- SHOP PRIME

6 1/2"Ø HILTI-KB3 BOLT 0'-5 1/2" FIELD BOLT-

2 - ANGLES - S-DA4

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-DA4

ANGLES-DA4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/18/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



A - A

83
4/

pi27

2'
-1

01
8/

14
@

9=
10

'-6
71

2/

2

21
3 16/

SL
1

M
C1

0X
8.

4

TYP

p23

3'
-0

3 8/

15 - p26 (F/S)
15 - gt1 (F/S)

30 - 916/ Ø HOLES IN STAIR
BOLT TO SHIP

p24

pi28

pi28

CC

TYP

18/
TYP

TYP

12

4716/

316/

316/

316/

D

D

TYP

w16

3'
-1

11
13

@
9=

9'
-9

51
2/

2

8'
-0

9 16/

3

8'
-6

7 8/

11
'-1

3 4/

2'
-8

15
16/

2'
-8

15
16/

14/878/1'-01516/

87
8/

13
@

99
16/

=1
0'

-4
11

16/

11
'-1

01
4/

178/

114/4358/

R 1 1
4/

61116/13@3516/ =3'-7116/638/

838/

12

1'-0
11316/

1316/

10
10

'-3
1 2/

1 4/

p24

IN
SI

D
E 

LA
D

D
ER

2'
-6

15 - p26

A A

pi27 w17
p23

p24
w16

p23
pi28 pi27

SL1
MC10X8.4

15- gt1

w18

15 - p26B B

STAIR UP

11
2/

11
2/

2'
-9

4'-10

14/4'-10

4'-1014/

14/

4'-1014/

D - D

gt1

SL1 p26 4
WELD EVERY OTHER
BEARING BAR

1'-0

B - B

21
3 16/

TYP

13
@

9=
9'

-9

316/

TYP

11316/

TYP

p23

w1
8

15 - p26 (N/S)
15 - gt1 (N/S)

30 - 916/ Ø HOLES IN STAIR
BOLT TO SHIP

p24

pi27

pi28

pi28

CC

18/
TYP

316/

316/

DET. A
TYP

w17

2'
-8

15
16/

2'
-8

15
16/

3'
-1

2

178/

1'-01516/ 878/ 14/

11
'-1

3 4/

2

3'
-0

3 8/

8'
-6

7 8/

3

83
4/

13
@

99
16/

=1
0'

-4
11

16/

14
@

9=
10

'-6

358/

87
8/

11
'-1

01
4/

71
2/

2'
-1

01
8/

8'
-0

9 16/

114/4

12

4716/

R 1 1
4/

638/ 13@3516/ =3'-7116/

1 4/

61116/

11 10

51
2/

1316/

838/

12

10
'-3

1 2/

C - C

SL1

11
2/

21316/

p24

5

1058/

2 - 1116/ Ø HOLES

21316/

3

11
2/

2 - 916/ Ø HOLES

DETAIL - A

TREAD
gt1

STRINGER
w18

PLATE
p26

9
TY

P4
TYP

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

SL1
11'-10 1/4"MC10X8.4

1
A36

SHIPS_LADDER
1 SL1

- SHOP PRIME

gt115 GRTG1"X7"GRTS_1 2'-5 1/2"
p232 PL1/4"X3"A36 0'-10"
p242 PL1/4"X3"A36 0'-10 5/8"
p2630 PL1/4"X3"A36 0'-7"
pi272 PIPE1-1/4SCH40A53-GR.B 10'-1 3/8"
pi284 PIPE1-1/4SCH40A53-GR.B 0'-11 3/16"
w161 MC10X8.4A36 0'-8 7/8"
w171 MC10X8.4A36 0'-8 7/8"
w181 MC10X8.4A36 11'-10 1/4"

60 1/2"Ø A325N BOLT 0'-1 1/4"-
8 5/8"Ø LAG BOLT BOLT 0'-5" FIELD BOLT-

ONE - SHIPS_LADDER - SL1
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

SL1

SHIPS_LADDERSL1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/18/2021ASM NSP

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

Te
kl

a 
st

ru
ct

ur
es



A - A

41
8/

316/

12

3716/

2

2

NOSING

ST4
MC12X10.6

w10

55
16/

a101 (F/S)

a49 (F/S)

916/

p35

7- a46 (F/S)10
7 8/ 7- tr15 (F/S)

p36

10716/

8'-9

316/
5

14/

114/

1'-101316/6'-91116/14/

5@11=4'-71'-414/

2116/

114/

7

27
16/

5'
-4

14/

9 16/

1'-117 8/

12

77
16/

6@
61

3 16/
=3

'-4
15

16/
1'

-9
1 16/

8'-6
1 16/

6@1'-0
15 16/ =6'-5

11 16/

7 - tr15

a46

a46 a46a46

3'
-9

IN
SI

D
E 

ST
R

IN
G

ER

a46

a46

A A
p36

a46

a101 a49

w9p36

ST4
MC12X10.6

w11

STAIR UP

p35

a46

a101 a46 a46 a46

4'
-0

p35

a46

316/ 3 SIDES
 ANGLE TO TREAD
(TYP)

a49

a46 a46

w10

B B

14/8'-812/14/

8'-9

14/8'-812/14/

8'-9

11
2/

11
2/

114/

12

3716/

B - B

7- a46 (N/S)

27
16/

a49 (N/S)

p35

5'
-4

2

41
8/

10
7 8/

DET. A

5

NOSING

2

w9

p36

a101 (N/S)

7- tr15 (N/S)

w11

316/

916/

TYP

55
16/

316/

10716/

2116/

7

114/

9 16/

8'-9

14/ 6'-91116/

5@11=4'-7

1'-101316/ 14/

1'-414/

12

77
16/

6@
61

3 16/
=3

'-4
15

16/
1'

-9
1 16/

14/

6@1'-0
15 16/ =6'-5

11 16/

1'-117 8/

8'-6
1 16/

DETAIL - A

NOSING

316/ 112/
TREAD TO
STRINGER1'-0

15 16/

TYP

STRINGER
MC12X10.6

ANGLE
L2X2X316/

TREAD
PL18/ "X22 12/

316/ 112/
ANGLE TO
STRINGER

2

11
TYP

11
TYP

61
3 16/

TY
P

61
3 16/

TY
P

1'-0
15 16/

TYP

178/
TYP

9
TYP

118/
TYP

Te
kl

a 
st

ru
ct

ur
es

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

ST4
8'-6 1/16"MC12X10.6

1
A36

STAIR
1 ST4

- SHOP PRIME

a4614 L2X2X3/16A36 0'-9"
a492 L2X2X3/16A36 1'-7"
a1012 L2X2X3/16A36 0'-5"
p352 PL1/4"X1 1/2"A36 0'-7"
p362 PL1/4"X1 1/2"A36 0'-10 7/8"
tr157 SHT12GAX22 1/2"A36 3'-9"
w91 MC12X10.6A36 8'-6 1/16"
w101 MC12X10.6A36 1'-10 13/16"
w111 MC12X10.6A36 1'-10 13/16"

ONE - STAIR - ST4
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

ST4

STAIRST4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSP

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021



8- tr16 (F/S)

111316/

12

3716/

7@
67

8/ =
4'

-0
1 8/

a101 (F/S)

A - A

316/

p35

1'-414/

41
8/

p37

9- a46 (F/S)

316/

w8

55
16/

10
15

16/

NO
SI

NG

w6
114/

5
7

8'-9

6@11=5'-610716/

5'
-1

15
16/

27
16/

14/ 14/

2

114/

14/

2

7'-81116/

1'
-9

3 16/

9
16/

916/

2116/

71
2/

12

9'-7 5
16/

1'-11 15
16/

7@1'-1=7'-6 13
16/

a46 a46

w7

a101a46

IN
SI

D
E 

ST
R

IN
G

ER
a101

p37

a46

a46 a46

w8

a46 a46

a46a46

p35

w6

a46a46a46

a46

8- tr16

ST5
MC12X10.6

A A

p35

a46

p37

a46

STAIR UP

a46

B B
a46

11
2/

3'
-9

11
2/

4'
-0

14/8'-812/14/

8'-9

14/8'-812/14/

8'-9

B - B

8- tr16 (N/S) 14/

5'
-1

15
16/

1'
-9

3 16/

114/

9- a46 (N/S)

10716/

316/

10
15

16/

w7

p35

12

3716/

14/

1'-414/

p37

ST5MC12X10.6

8'-9

5

316/

a101 (N/S)

NO
SI

NG

DET. A
TYP

27
16/

6@11=5'-6

55
16/

114/

7

7'-81116/

41
8/

14/111316/

2

2
7@

67
8/ =

4'
-0

1 8/

9
16/

2116/

916/

71
2/

12

9'-7 5
16/

1'-11 15
16/

7@1'-1=7'-6 13
16/

DETAIL - A

316/ 112/
TREAD TO
STRINGER

STAIR
MC12X10.6

TREAD
PL18/ "X22 12/

ANGLE
L2X2X316/

67
8/

TY
P

316/ 112/
ANGLE TO
STRINGER

2

11
TYP

178/
TYP

NO
SI

NG

112/
TYP

9
TYP

11
TYP

67
8/

TY
P

1'-1TYP

1'-1TYP

12

71
2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

ST5
9'-7 5/16"MC12X10.6

1
A36

STAIR
1 ST5

- SHOP PRIME

a4618 L2X2X3/16A36 0'-9"
a1012 L2X2X3/16A36 0'-5"
p352 PL1/4"X1 1/2"A36 0'-7"
p372 PL1/4"X1 1/2"A36 0'-10 15/16"
tr168 SHT12GAX22 1/2"A36 3'-9"
w61 MC12X10.6A36 9'-7 5/16"
w71 MC12X10.6A36 0'-11 13/16"
w81 MC12X10.6A36 0'-11 13/16"

ONE - STAIR - ST5
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

ST5

STAIRST5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/18/2021ASM NSP

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

Te
kl

a 
st

ru
ct

ur
es



A - A

114/

316/

7'-1012/

14/

a45 (F/S)

12

3716/

6- tr15 (F/S)

4@11=3'-8

9
16/

316/3 SIDES

41
8/

916/

316/

w14

7- a46 (F/S)
CC

w5

p22

6'-6316/

1'-1134/

a48 (F/S)

1'-31316/

p35

5

2

NO
SI

NG

312/

14/

2116/

4'
-8

9 16/

10716/

314/

2

512/

7

5@
61

3 16/
=2

'-1
01

8/
1'

-8
7 16/

2'-6 15
16/

81
16/

41
1 16/

12

77
16/

8'-0 1
4/

5@1'-0 15
16/ =5'-4 11

16/

a46

a48 a46

p35

a46

w5

p22
a46

a45

a45a46a46

ST6
MC12X10.6

a46

A A

IN
SI

D
E 

ST
R

IN
G

ER

a46

p22

a46 a46 a46 a46 a46

w4

p35

a48 a46

w14

6- tr15
STAIR UP

B B

7'-1012/

7'-1012/

14/7'-1014/

4'
-0

11
2/

3'
-9

11
2/

14/7'-1014/

C - C

5a45
2 - 78/ Ø HOLES

p22

3

11
2/

B - B

2 - 78/ Ø HOLES

7- a46

p22

a48

ST6
MC12X10.6

p35

p35

tr15

a45

tr15tr15

2 - 78/ Ø HOLES

a48

7- a46

tr15

w14

tr15

a45

tr15

p22

w5

w4

6'-6316/

9
16/

B - B

5

p35

w4

316/

114/

916/

p22

316/
2116/

CC

TYP
DET. A

ST6MC12X10.6

4@11=3'-8

316/
3 SIDES

a45 (N/S)

7- a46 (N/S)

1'-1134/

6- tr15 (N/S)

a48 (N/S)

12

77
16/

312/

NO
SI

NG

14/

41
8/

7

41
1 16/

2

7'-1012/

14/1'-31316/

512/

10716/

314/

4'
-8

9 16/

12

3716/

81
16/

2
5@

61
3 16/

=2
'-1

01
8/

1'
-8

7 16/

8'-0 1
4/

2'-6 15
16/

5@1'-0 15
16/ =5'-4 11

16/

11
TYP

STAIR
MC12X10.6

DETAIL-A

61
3 16/

TY
P

2

NO
SI

NG

316/
ANGLE TO

 STRINGER

12

77
16/

ANGLE
L2X2X316/

316/
TREAD TO 
STRINGER

TREAD
PL18/ "X22 12/

TY
P

11
TYP

61
3 16/

TY
P

1'-0 15
16/TYP

1'-0 15
16/TYP

21
8/

112/
TYP

9
TYP

178/
TYP

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

ST6
8'-0 1/4"MC12X10.6

1
A36

STAIR
1 ST6

- SHOP PRIME

a452 L3X2-1/2X3/8A36 0'-5 1/2"
a4614 L2X2X3/16A36 0'-9"
a482 L2X2X3/16A36 1'-1"
p222 PL1/4"X1 1/2"A36 0'-8 1/16"
p352 PL1/4"X1 1/2"A36 0'-7"
tr156 SHT12GAX22 1/2"A36 3'-9"
w41 MC12X10.6A36 1'-3 13/16"
w51 MC12X10.6A36 1'-3 13/16"
w141 MC12X10.6A36 8'-0 1/4"

4 3/4"Ø TITEN_HD BOLT 0'-5" FIELD BOLT-

ONE - STAIR - ST6
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

ST6

STAIRST6 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSP

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

Te
kl

a 
st

ru
ct

ur
es



br102 br102 p2br102

TYP

1 8/ 1 8/p2

WR1 TYP

21
5 16/

R 1 1
4/

11
5 16/

25
16/

13
16/

21
5 16/

11
5 16/

13
16/

A - A

br102

WR1

2516/

CLR
112/

8'-6
7 8/

3'-9
1 2/

p2

3- br102

p2

WR1
PIPE1-14/ SCH40

TYPA

A

8'-4

6

4'-2
13 16/

69 16/

1316/101516/7'-3716/

R
 1 1

4/

1316/

4'
-7

7 8/

12

77
16/

13
16/

4'
-6

3 16/
13

16/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR1
9'-8 5/8"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR1

- SHOP PRIME

br1023 WALLRAIL BRACKETA36 BOI
p22 PL1/8"X1 5/8"A36 0'-1 5/8"

ONE - WALLRAIL - WR1

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR1

WALLRAILWR1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



83
16/br101

91
16/ br101 br101

WR10

83
16/

13
16/

91
16/

13
16/

25
16/

R
 1

1 4/

B - B

8316/

9116/

1316/

R 1
1 4/

TY
P

3- br101

9'-2 13
16/

5'
-2

3 16/

1316/

WR10
PIPE1-14/ SCH40

21
1 16/

B

B12

75
16/

4'-0 13
16/

A

A

TYP

9'-0516/

7'-10916/1'-018/1316/

13
16/

5'
-0

1 2/
13

16/

6 1
2/

4'-7 7
16/

R
 1

1 4/

6

A - A

br101

WR10 CLR

2516/

112/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR10
11'-8 13/16"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR10

- SHOP PRIME

br1013 WALLRAIL BRACKETA36 BOI

ONE - WALLRAIL - WR10

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR10

WALLRAILWR10 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



WR11

br101br101 br101 p2

TYP

13
16/

21
5 16/

1 8/ 11
5 16/

25
16/

91
16/

13
16/

83
16/

R 1
1 4/

A - A

br101

CLRWR11

2516/

112/

WR11
PIPE1-14/ SCH40

4'
-6

3 16/

p2

8'-9316/

6

3 - br101

TYPA

A

1316/7'-3716/1316/ 1'-4116/

6

8'-6 7
8/

12

77
16/

4'
-7

7 8/

13
16/

13
16/

R
 1

1 4/

4'-6 1
8/

3'-6 3
4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR11
10'-8"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR11

- SHOP PRIME

br1013 WALLRAIL BRACKETA36 BOI
p21 PL1/8"X1 5/8"A36 0'-1 5/8"

ONE - WALLRAIL - WR11

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR11

WALLRAILWR11 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/15/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



TYP

21
5 16/

1 8/ br102br102br102br102 p27

TYP

p27

WR12
11

5 16/
13

16/

21
5 16/

11
5 16/

13
16/

1 8/

R 1 1
4/

25
16/

A - A

112/

br102

CLR

2516/

WR12

WR12
PIPE1-14/ SCH40

1316/

61 2/

13
16/

6

p27

5'
-1

13
16/

R
 1 1

4/

9'-7
5 16/

5'
-0

1 8/

p27

4- br102

A

A

9'-3

1316/101516/8'-238/

13
16/

2'-8
3 4/

3'-2

3'-2

12

75
16/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR12
10'-9 1/16"PIPE1-1/4SCH40

3
A53-GR.B

WALLRAILS
3 WR12

- SHOP PRIME

br10212 WALLRAIL BRACKETA36 BOI
p276 PL1/8"X1 5/8"A36 0'-1 5/8"

3 - WALLRAILS - WR12

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR12

WALLRAILWR12 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSP



A - A

WR13
CLR

br102

112/

2516/

13
16/

br102

TYPTYP

p2 br102 br102 p2

1 8/

WR13

11
5 16/

21
5 16/

R 1 1
4/

25
16/

21
5 16/

11
5 16/

13
16/

1 8/

3- br102
4'-3

1 16/

8'-4

A

A

TYP

p2

p2

WR13
PIPE1-14/ SCH40

1316/

6

1316/101516/7'-3716/

4'
-7

7 8/
13

16/
4'

-6
3 16/

13
16/

R
 1 1

4/
8'-6

13 16/

3'-9
3 4/

6

12
77

16/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR13
9'-8 5/8"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR13

- SHOP PRIME

br1023 WALLRAIL BRACKETA36 BOI
p22 PL1/8"X1 5/8"A36 0'-1 5/8"

ONE - WALLRAIL - WR13

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR13

WALLRAILWR13 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/15/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



br102

WR14

1 8/br102p2 br102 br102

13
16/

25
16/ p2

TYP
R 1 1

4/TYP

11
5 16/

13
16/

1 8/21
5 16/

11
5 16/

21
5 16/

A - A

CLR
112/

WR14

br102

2516/

TYP

4 - br102

5'
-3

3 16/

13
16/

R
 1 1

4/
WR14
PIPE1-14/ SCH40

p2

p2

A

A

3'-2
1 4/

13
16/

1316/101516/8'-2716/1316/

9'-3
5'

-1
1 2/

9'-8
1 16/

71
2/

12

2'-8
15 16/

3'-2
1 4/

69 16/

6

Te
kl

a 
st

ru
ct

ur
es

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR14
10'-9 13/16"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR14

- SHOP PRIME

br1024 WALLRAIL BRACKETA36 BOI
p22 PL1/8"X1 5/8"A36 0'-1 5/8"

ONE - WALLRAIL - WR14

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR14

WALLRAILWR14 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSP



TYP TYP

25
16/

1 8/ br102p2 br102 br102 br102 p2

13
16/ WR2

1 8/21
5 16/

21
5 16/

11
5 16/

11
5 16/

13
16/R 1 1

4/

CLR

A - A

br102

WR2

2516/
112/

TYPA

A

61 2/

6

WR2
PIPE1-14/ SCH40

p2

p2

4- br102

13
16/

4'
-1

11
8/

13
16/

9'-6
13 16/

5'
-0

13
16/

1316/101516/

2'-8
9 16/

8'-238/1316/

9'-3

R
 1 1

4/
3'-1

7 8/

3'-1
7 8/

12

73
16/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR2
10'-8 9/16"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR2

- SHOP PRIME

br1024 WALLRAIL BRACKETA36 BOI
p22 PL1/8"X1 5/8"A36 0'-1 5/8"

ONE - WALLRAIL - WR2

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR2

WALLRAILWR2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



br102br102 br102 br102

1 8/ 21
5 16/p27

21
5 16/

p27

R 1 1
4/

WR27

13
16/

13
16/TYP

TYP

1 8/ 11
5 16/

25
16/

11
5 16/

A - A

2516/

WR27

br102

CLR
112/

2'-8
9 16/

1316/

p27

3'-1
7 8/

R
 1 1

4/
3'-1

7 8/

p27

4 - br102

101516/

4'
-1

11
8/

WR27
PIPE1-14/ SCH40

13
16/

61 2/

1316/8'-238/

TYPA

A

9'-3

12

73
16/5'
-0

13
16/

13
16/ 6

9'-6
13 16/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR27
10'-8 9/16"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR27

- SHOP PRIME

br1024 WALLRAIL BRACKETA36 BOI
p272 PL1/8"X1 5/8"A36 0'-1 5/8"

ONE - WALLRAIL - WR27

REVISIONS

NO DESCRIPTION DATE

0 ISSUED FOR FABRICATION 03/08/2021  ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR27

WALLRAILWR27 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202103/03/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



11
5 16/

11
5 16/ p2br102

WR3

p2 br102 br102 br102

TYP R 1 1
4/

1 8/

TYP

1 8/

13
16/

21
5 16/

21
5 16/

25
16/

13
16/

WR3

A - A

2516/

112/
CLR

br102

4'
-1

11
8/

p2

R
 1 1

4/

p2

WR3
PIPE1-14/ SCH40

13
16/

4 - br102

A

A

TYP

1316/101516/8'-238/1316/

9'-3

6

5'
-0

13
16/

13
16/

2'-8
9 16/

3'-1
7 8/

3'-1
7 8/

61 2/

9'-6
13 16/

12

73
16/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR3
10'-8 9/16"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR3

- SHOP PRIME

br1024 WALLRAIL BRACKETA36 BOI
p22 PL1/8"X1 5/8"A36 0'-1 5/8"

ONE - WALLRAIL - WR3

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR3

WALLRAILWR3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



25
16/

WR4

83
16/br102br102br102

13
16/

91
16/

R 1
1 4/

83
16/

13
16/

91
16/

9116/

8316/

B - B

1316/

R 1
1 4/

3'-0 1
16/

WR4
PIPE1-14/ SCH40

TYP

3- br102

A

A

B

B

6
TY

P

9'-0516/

4'
-8

1 4/

8'-2 5
16/

13
16/

6 9
16/

4'-7 11
16/

R
 1

1 4/
1316/

4'
-6

9 16/

1316/ 6'-11916/

23
4/

1'-11116/

77
16/

12

13
16/

A - A

WR4

112/
2516/

CLR

br102

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR4
11'-7 3/8"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR4

- SHOP PRIME

br1023 WALLRAIL BRACKETA36 BOI

ONE - WALLRAIL - WR4

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR4

WALLRAILWR4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/15/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



br102br102br102

13
16/ WR5

91
16/ 25

16/

13
16/

83
16/

83
16/

91
16/

R 1
1 4/

A - A

CLR

br102

2516/

WR5
112/

B

B

6

5'
-1

3 16/

WR5
PIPE1-14/ SCH40

1316/

3- br102

TYPA

A

TY
P

12

73
16/

1316/7'-10316/1'-012/

9'-0516/

9'-1 7
8/

6 1
2/

4'-7 1
4/

4'-0 3
16/R

 1
1 4/

13
16/

4'
-1

11
2/

13
16/

27
8/

9116/

B - B

8316/1316/

R 1
1 4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR5
11'-8 7/16"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR5

- SHOP PRIME

br1023 WALLRAIL BRACKETA36 BOI

ONE - WALLRAIL - WR5

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR5

WALLRAILWR5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



13
16/

R 1
1 4/

91
16/ br102 25

16/ br102 br102

WR6

83
16/

91
16/

83
16/

13
16/

A - A

WR6

br102

CLR

2516/

112/

4'
-1

11
2/

TY
P

WR6
PIPE1-14/ SCH40

3- br102

A

A

5'
-1

3 16/

B

B

TYP

9'-2 5
16/

13
16/

9'-0516/

12

73
16/

1316/7'-10916/1'-018/1316/

6

13
16/

21
1 16/6 1

2/

4'-7 1
4/

R
 1

1 4/

4'-0 5
8/

B - B

1316/

9116/

R 1
1 4/

8316/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR6
11'-8 5/16"PIPE1-1/4SCH40

2
A53-GR.B

WALLRAILS
2 WR6

- SHOP PRIME

br1026 WALLRAIL BRACKETA36 BOI

2 - WALLRAILS - WR6

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR6

WALLRAILWR6 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSP



br101

R 1
1 4/

83
16/

18/

TYP

TYP

p2

br101 br1011'
-3

1 16/
13

16/
1'

-1
3 8/

1316/

13
16/

11516/

21516/

91
16/

13
16/

25
16/

6

5'
-2

3 16/

3- br101

WR7
PIPE1-14/ SCH40

9'-0516/

p2

A

A

TYP

B

B

21
1 16/

1'-018/

TY
P

9'-2 13
16/

5'
-0

1 2/

1316/7'-10916/1316/

13
16/

13
16/

6 1
2/

4'-7 7
16/

4'-0 13
16/R

 1
1 4/

12

75
16/

112/

A - A

br101

CLRWR7

2516/

B - B

R 1
1 4/

8316/1316/

9116/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR7
12'-3 7/16"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR7

- SHOP PRIME

br1013 WALLRAIL BRACKETA36 BOI
p21 PL1/8"X1 5/8"A36 0'-1 5/8"

Te
kl

a 
st

ru
ct

ur
es

ONE - WALLRAIL - WR7

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR7

WALLRAILWR7 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSP



13
16/

br101

WR8

br101

91
16/br101

91
16/

83
16/

13
16/

83
16/25
16/

R 
11

4/

WR8

A - A

CLR

2516/

br101

112/

5'
-0

1 2/

WR8
PIPE1-14/ SCH40 9'-3 1

4/

1316/

3- br101

A

A

5'
-2

3 16/

TYP

B

B

6

13
16/

TY
P

9'-0516/

1134/ 7'-101516/1316/

12

75
16/

13
16/

21
2/

R
 1

1 4/

6 1
2/

4'-7 7
16/

4'-1 1
4/

9116/

B - B

1316/ 8316/

R 1
1 4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR8
11'-8 11/16"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR8

- SHOP PRIME

br1013 WALLRAIL BRACKETA36 BOI

ONE - WALLRAIL - WR8

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR8

WALLRAILWR8 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/16/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es



25
16/

13
16/WR9

br101

91
16/ br101br101

83
16/

13
16/

R 1
1 4/

83
16/

91
16/

2516/

A - A

WR9
112/
CLR

br101

13
16/

3- br101

WR9
PIPE1-14/ SCH40

R
 1

1 4/

5'
-1

7 8/

TYP

TY
P

B

B

A

A

6

9'-0516/

1316/7'-10916/1'-0116/

4'-7 13
16/

1316/

23
4/

6 9
16/

4'-1 1
8/

9'-3 1
2/

13
16/

5'
-3

9 16/

12

71
2/

B - B

9116/

1316/ 8316/

R 1
1 4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

WR9
11'-9 9/16"PIPE1-1/4SCH40

1
A53-GR.B

WALLRAIL
1 WR9

- SHOP PRIME

br1013 WALLRAIL BRACKETA36 BOI

ONE - WALLRAIL - WR9

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 02/08/2021

0 ISSUED FOR FABRICATION 03/08/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

WR9

WALLRAILWR9 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

03/08/202101/15/2021ASM NSPTe
kl

a 
st

ru
ct

ur
es




